
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Clay Paky Alpha Profile 1200 

  

699134/020 Brd baseFujitsuMB90F497/G 

699152/805 Brd Yoke FujitsuMB90F352/S 

699141/015 Brd yokeFujitsuMB90F455/S 

699141/016 Brd headFujitsuMB90F455/S 

699141/017 Brd headFujitsuMB90F455/S 

694002/001 Power supply cord 

694002/002 ETLPower supply cord 

211999/001 Control panel wire harness (ground and DMX connection 3/5 poles) 

211999/002 ETLControl panel wire harness (ground and DMX connection 3/5 poles) 

213999/001 Base wire harness 

213999/002 ETLBase wire harness 

217999/002 Ground head wire harness 

213999/003 ETLGround head wire harness 

650061/001 Lampthermostat wire harness 

650019/001 Pan/Tilt wire harness (encoders, motors, bus cable) 

650064/002 Fan wire harness 270mm 

650064/003 Fan wire harness 420mm 

650202/001 ETLPSU wireharness 

650024/005 CMY, CTO motors wire harness 

650068/002 CMY, CTO board wire harness 

650068/003 Blades, Iris motors wire harness 

650068/004 Blades, Iris board wire harness 

650068/005 Focus, Zoom, Prism motors wire harness 

650068/006 Focus, Zoom, Prism board wire harness 

650068/007 Rotating gobos, Gobos change, Static gobos, Shutter, Dimmer, Colour wheel,  

Framing rotation motors wire harness 

650068/008 Rotating gobos, Gobos change, Static gobos, Shutter, Dimmer, Colour wheel,  

Framing rotation board wire harness 

188214/002 CyanSingle shaft, 40mm long 

188214/002 MagentaSingle shaft, 40mm long 

188214/002 YellowSingle shaft, 40mm long 

188214/002 CTO1Single shaft, 40mm long 

031902 Colour WheelSingle shaft, 26.5mm long 

031902/001 Stop-Strobe (higherblade)Single shaft, 16.5mm long 

188214/001 Stop-Strobe (lowerblade)Single shaft, 10mm long 

188036/001 DimmerSingle shaft, 37mm long 

188214/002 IrisSingle shaft, 40mm long 

188214/002 Fixed GoboSingle shaft, 40mm long 

179014/001 Rotating Gobo ChangeSingle shaft, 9mm long 

188214/001 Gobo RotationSingle shaft, 10mm longUP 1 



031937 Blade Single threaded (M5x2) shaft, 45mm longUP 2 

031937 Blade Single threaded (M5x2) shaft, 45mm longDW 1 

031937 Blade Single threaded (M5x2) shaft, 45mm longDW 2 

031937 Blade Single threaded (M5x2) shaft, 45mm longRG 

188214/001 Blade Single shaft, 10mm longRG 2 

188214/001 Blade Single shaft, 10mm longLF 1 

188214/001 Blade Single shaft, 10mm longLF 2 

188214/001 Blade Single shaft, 10mm long 

179014/004 Framing RotationSingle shaft, 18+2mm long 

030798/001 Frost/Prism/Animation ChangeDoubleshaft, 11.30mm and 8mm long 

179014/002 Prism/Animation RotationSingle shaft, 18+2mm long 

031902/001 FocusSingle shaft, 16.5mm long 

031902/001 ZoomSingle shaft, 16.5mm long 

031936 PanSingle shaft, 55mm long 

031936 TiltSingle shaft, 55mm long 

031934 PAPST 3856In standard version230 AC50/609.0INLET1Lamp -A 

216081/801 VAC001PAPST 3856In ETLversion230 AC50/609.0INLET1LampA 

216140/801 VAC00BPAPST 4414 FL24 DC-1.0INLET1Effects -B 

213045/801 031938NIDECSERVOE0720H24B5AZ-0024 DC--To blades assembly Electronic  

board holder plate 

VAC004 PAPST 8414 NGML24 DC-1.1INLET1Base -C(to ballast)OUTLET 

031931 PAPST 614 FinETL version only24 DC-1.1Base -D(transformer) 

13160/801 Complete fixed gobo wheel (with gobos) 

209087/801 Complete colour wheel (with dichroics): 

030331 Relay -16A, 3-way, NC-C-NO 

031858 Electronic ballast 

031859 Hot restrike igniter 

031860 Filter for EVG 1200W 

030374 Thermal cut-out 140°C -Lamp(for standard version) 

030378 Thermal cut-out 140°C -Lamp-with manual reset(forETL version) 

030303 Thermal cut-out 90°C -Effect 

030372 115/230V Voltage switch(in standard version only) 

031854 Transformer 250VA, Vp115+115V, Vs 24V, thermal prot. 140°C 

(for standard version) 

031849 Electronic transformer 250W 28Vdc 8.9A(forETL version) 

031745 Battery 6V, 1.3Ah 

031746 Bridge rectifier 25A 

03175122 Ohm resistor 

030370 Safety switch 

030371 Lever 170F 

030360 Lever 170A R=41 for microswitch 

030373 Lever 170A R=18.3 

699152/805 Pan/Tilt driver board S301 (programmed) 

699141/015 Motor driver boardS208, 8-driver. Programmedfor:  

prism change and rotation, zoom, focus, CMY, CTO. 

699141/016 Motor driver boardS208, 8-driver. Programmedfor: gobos, dimmer,  

colour disc, stopper/strobe, framing rotation, iris. 

699141/017 Motor driver boardS208, 8-driver. Programmedfor profiler blades 



699134/020 Main electronic boardS200/2 -programmed 

699157 Dimmer control board 

699151 Electronic S207-A 

699146 Pan/Tilt encoder board-S209/A 

699114 Hall sensor board-S230/B 

699138 4-digits display board, S205 

699139 5-poles DMX connectors board, S206-B 

699140 3-poles DMX connectors board, S206-A 

030821 Motor driver IC 3771 

030463 Fuse 5x20 mm 6.3AT 

030430 MSB fuse 2x7mm 2 AT 

030431 MSB fuse 2x7mm 4 AT 

030432 MSB fuse 2x7mm 8 AT 

VAC004 Fan PAPST 8414NGML 

216140/801 Fan PAPST 4414FL(VAC00B) 

213045/801 Fan JAPAN SERVOE0720H24B5AZ-00(031938) 

031934 Fan PAPST 3856 230V(in standard version)-To lamp room 

216081/801 Fan Papst 3414NM 24V 1.8W(VAC001) with connector(in ETL version) - 

To lamp room 

031931 Fan PAPST 614 F(in ETL version only)-To electronic transformer 

031902/001 Stepper motor, single shaft 16.5mm, KH39EM2-008 

(strobe blade high, focus, zoom) 

188214/001 Stepper motor, single shaft 10mm, KH39EM2-021(strobe blade low,  

gobo rotation, blades RG1, RG2, LF1, LF2) 

188214/002 Stepper motor, single shaft 40mm, KH39EM2-050(cyan, magenta,  

yellow, CTO, iris, fixed gobo) 

188036/001 Stepper motor, single shaft 37mm, KH42HM2B081-(dimmer blades) 

031902 Stepper motor, single shaft 26.5mm, KH39EM2-036-(colour disc) 

179014/001 Stepper motor, single shaft 9mm,KH42HM2B077(rotating gobo change) 

030798/001 Stepper motor, double shaft 9mm, KH42HM2B082(prism/animation change) 

179014/002 Stepper motor, single shaft 9mm, KH42HM2B078(prism/animation rotation) 

179014/004 Stepper motor, single shaft 9mm, KH42HM2B080-(framing rotation) 

031936 Stepper motor for pan and tilt 

031937 Stepper motor, single shaft, M5x2-(blades UP1, UP2, DW1, DW2) 

209073/801 Colour mixing blade -Yellow, low 

209073/802 Colour mixing blade -Yellow, high 

209073/803 Colour mixing blade -Cyan, low 

209073/804 Colour mixing blade -Cyan, high 

209073/805 Colour mixing blade -Magenta, low 

209073/806 Colour mixing blade -Magenta, high 

209073/807 Colour mixing blade -CTO, low 

209073/808 Colour mixing blade -CTO, high 

209049/801 Strobe blade assembly -low 

209049/802 Strobe blade assembly -high 

209104/801 Dimmer blade 1 assembly 

209104/802 Dimmer blade 2 assembly 

209087/801 Colour wheelcomplete 

213160/801 Static gobo wheelcomplete 



080493/001 Elliptic reflector for Alpha Profile 

080343/101 IR filter 135X55 

650024/005 CMY motors wiring 

650068/002 S208 board wiring 

650068/007 Gobos –Strobe motors wiring 

650068/008 S208 (Rotating gobo) board wiring 

650068/003 Profile motors wiring 

650068/004 S208 (Profile ) board wiring 

650068/005 Focus –zoom motors wiring 

650068/006 S208 (Focus-zoom) board wiring 

031048 Motor connector (large) with 1.4m long cables 

031726 Motor connector (small) with 1.0m long cables 

030681/001 Magnet D=3 mm H=1.5 mm 10pc 

030685/001 Magnet D=3 mm H=3 mm 10pc 

030678 Magnet D=3 mm H=6 mm 10pc 

022216 Clips 10 pc 

020431/001 Clips 10 pc 

020041/003 Screw 4.2X16 for plastic cover 10pc 

020430/002 ¼ Turn pivot 5 pc 

081485/001 Spring 5pc 

020432/001 Seal washer 5 pc 

021745/001 Belt for CMY and CTO colour discs 

030649/001 Barrierta white grease –10 gr 

030691/001 Aluminium adhesive tape20 cm 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


